

СИБИРСКИЕ ЭЛЕКТРОННЫЕ МАТЕМАТИЧЕСКИЕ ИЗВЕСТИЯ

Siberian Electronic Mathematical Reports

<http://semr.math.nsc.ru>

Том 4, стр. 547–552 (2007)

УДК 519.214

MSC 60F15, 60G42

ON CONDITIONS FOR SLLN FOR MARTINGALES WITH IDENTICALLY DISTRIBUTED INCREMENTS

A. I. SAKHANENKO

ABSTRACT. For any random variable X with $\mathbf{E}[|X| \log(1 + |X|)] = \infty$ and $\mathbf{E}X = 0$ we construct a sequence $\{X_n : n \geq 1\}$ of martingale differences which are identically distributed with X and such that the strong law of large numbers does not hold.

1. INTRODUCTION

Let $\{X_n : n \geq 1\}$ be a sequence of random variables and let $\{\mathcal{F}_n : n \geq 1\}$ be an increasing sequence of σ -fields with X_n measurable with respect to \mathcal{F}_n for each n . The sequence $\{X_n, \mathcal{F}_n : n \geq 1\}$ is said to be a *sequence of identically distributed martingale differences* if the random variables $\{X_n\}$ are identically distributed and

$$(1) \quad \forall n > 1 \quad \mathbf{E}[X_n | \mathcal{F}_{n-1}] = 0 = \mathbf{E}X_1 \quad \text{a.s.}$$

The following assertion is a partial case of Theorem 2.19 in [1].

Theorem 1. *Let $\{X_n, \mathcal{F}_n : n \geq 1\}$ be a sequence of identically distributed martingale differences such that*

$$(2) \quad \mathbf{E}[|X_1| \log(1 + |X_1|)] < \infty.$$

Then

$$(3) \quad n^{-1} \sum_{i=1}^n X_i \rightarrow 0 \quad \text{a.s.} \quad \text{as } n \rightarrow \infty.$$

SAKHANENKO, A.I., ON CONDITIONS FOR SLLN FOR MARTINGALES WITH IDENTICALLY DISTRIBUTED INCREMENTS.

© 2007 SAKHANENKO A.I.

Работа выполнена при частичной финансовой поддержке Российского фонда фундаментальных исследований (грант 07-01-00595).

Received December, 18, 2007, published December, 25, 2007.

On the other hand, if random variables $\{X_n : n \geq 1\}$ are independent and identically distributed, then, as it follows from the classical (Kolmogorov) strong law of large numbers, convergence (3) holds if and only if $\mathbf{E}X_1 = 0$.

Thus, the question arises if condition (2) is necessary in the general case (see also the remark on page 39 in [1]). We give a positive answer for this question in the following theorem which is the main result of the paper.

Theorem 2. *Let a random variable X_1 satisfy the following conditions*

$$(4) \quad \mathbf{E}X_1 = 0 \quad \text{and} \quad \mathbf{E}[X_1^+ \log(1 + X_1^+)] = \infty.$$

Then on some probability space we may define a sequence $\{X_n, \mathcal{F}_n : n \geq 1\}$ of identically distributed martingale differences such that

$$(5) \quad \liminf_{n \rightarrow \infty} n^{-1} \sum_{i=1}^n X_i \leq -c < 0 \quad \text{a.s.},$$

where $0 < c = \mathbf{E}X_1^+ = \mathbf{E}|X_1|/2 < \infty$.

The rest of the paper is devoted to the proof of Theorem 2.

2. CONSTRUCTION

First we introduce the following notations

$$(6) \quad a(x) := \mathbf{E}[X_1 : X_1 > x], \quad b_N = \mathbf{E}[-X_1 : -N \leq X_1 < 0].$$

Lemma 1. *If conditions (4) hold then there exists an integer N such that*

$$(7) \quad b_N \geq c\mathbf{P}(X_1 < 0) + c(c+1)/N \quad \text{and} \quad a(N) \leq c/2,$$

with $c = \mathbf{E}X_1^+$. In particular,

$$(8) \quad \forall m \geq 1 \quad 0 < p_m := \mathbf{P}(X_1 > N^m) + qa_m \leq a_m/c_N < 1/2,$$

where

$$(9) \quad a_n := a(N^m), \quad q := \mathbf{P}(-N \leq X_1 < 0)/b_N, \quad c_N := c/(1 - 1/N).$$

Now for $m \geq 1$ we define monotone functions

$$(10) \quad G_m(x) := \mathbf{P}(X_1 \leq x, X_1 > N^m) + a_m \mathbf{P}(X_1 \leq x, -N \leq X_1 < 0)/b_N.$$

Note that

$$p_m := G_m(\infty) \quad \text{and} \quad G_m(x) \leq \mathbf{P}(X_1 \leq x) \quad \forall x.$$

In what follows we are going to introduce a set

$$\{X_1, \eta_m, U_n, V_n : m \geq 1, n \geq 2\},$$

of mutually independent random variables with specially chosen distributions. First we suppose that each of the random variables $\{\eta_m : m \geq 1\}$ has only two values with the following probabilities

$$(11) \quad \mathbf{P}(\eta_m = 1) = p_m \quad \text{and} \quad \mathbf{P}(\eta_m = 0) = 1 - p_m.$$

After that we introduce random variables U_n and V_n with the following distributions

$$(12) \quad \begin{aligned} \forall n \geq 2 \quad \mathbf{P}(U_n \leq x) &:= G_{k(n)}(x)/p_{k(n)}, \\ \mathbf{P}(V_n \leq x) &:= (\mathbf{P}(X_n \leq x) - G_{k(n)}(x))/(1 - p_{k(n)}), \end{aligned}$$

where the integers $k(n) \geq 1$ are defined in the following way:

$$(13) \quad k(m) = m \geq 1 \quad \text{if and only if} \quad N^{m-1} < n \leq N^m.$$

Finally, we define the desirable random variables in the following way

$$(14) \quad X_n := \eta_{k(n)}U_n + (1 - \eta_{k(n)})V_n \quad \text{for all} \quad n \geq 2.$$

For all $n \geq 1$ we denote by \mathcal{F}_n the minimal σ -algebra generated by the following random variables:

$$(15) \quad \{X_i, \eta_{k(i+1)} : 1 \leq i \leq n\} = \{X_i, \eta_m : 1 \leq i \leq n, m \geq 1, N^{m-1} \leq n\}.$$

And let \mathcal{F}_0 be the trivial σ -algebra.

Lemma 2. *If conditions (4) hold then the sequence $\{X_n, \mathcal{F}_n : n \geq 1\}$, defined above, is a sequence of identically distributed martingale differences. Moreover, in this case for all $n \geq 2$*

$$(16) \quad \mathbf{P}(X_n \leq x | \mathcal{F}_{n-1}) = \eta_{k(n)}\mathbf{P}(U_n \leq x) + (1 - \eta_{k(n)})\mathbf{P}(V_n \leq x).$$

3. PROOF OF THEOREM 2

For $i \geq 1$ let us introduce random variables

$$(17) \quad Z_i := X_i I(|X_i| > i), \quad z_i := \mathbf{E}[Z_i | \mathcal{F}_{i-1}], \quad y_i := \mathbf{E}[X_i I(|X_i| \leq i) | \mathcal{F}_{i-1}].$$

It was shown in [1], in the proof of Theorem 2.19 (see formula (2.20) in [1]), that for any sequence of identically distributed martingale differences the following convergence holds

$$(18) \quad \bar{Y}(n) := \frac{1}{n} \sum_{i=1}^n (X_i - y_i) \rightarrow 0 \quad \text{a.s.} \quad \text{as} \quad n \rightarrow \infty.$$

It is clear from (17) and (1) that for all $i \geq 1$

$$X_i = X_i I(|X_i| \leq i) + Z_i \quad \text{and} \quad y_i + z_i = \mathbf{E}[X_i | \mathcal{F}_{i-1}] = 0.$$

Hence

$$(19) \quad \bar{X}(n) := \frac{1}{n} \sum_{i=1}^n X_i = \bar{Y}(n) - \frac{Z}{n} - \frac{1}{n} \sum_{i=N+1}^n z_i \quad \text{with} \quad Z := \sum_{i=1}^N z_i.$$

Later on in the paper we suppose that conditions (4) hold and that $\{X_n\}$ and $\{\mathcal{F}_n\}$ are the sequences constructed in Section 2.

Lemma 3. *Under assumptions of Lemma 3 for all $n > N$ we have*

$$(20) \quad -z_n \leq 2w_n - c_N \eta_{k(n)}, \quad \text{where} \quad w_n := \mathbf{E}[-X_1 : X_1 < -n].$$

It follows from (20) that

$$(21) \quad w_n \rightarrow 0 \quad \text{and} \quad \bar{W}_n := \frac{1}{n} \sum_{i=N+1}^n 2w_i \rightarrow 0 \quad \text{as} \quad n \rightarrow \infty.$$

On the other hand, we have from (19), (20) and (21) that

$$(22) \quad \bar{X}(n) \leq \bar{Y}(n) - \frac{Z}{n} + \bar{W}(n) - \bar{U}(n) \quad \text{with} \quad \bar{U}(n) := \frac{1}{n} \sum_{i=N+1}^n c_N \eta_{k(i)}.$$

So, we obtain from (18), (21) and (22) that

$$(23) \quad \liminf_{n \rightarrow \infty} \bar{X}(n) \leq \liminf_{n \rightarrow \infty} (-\bar{U}(n)) = -\limsup_{n \rightarrow \infty} \bar{U}(n) \leq -\limsup_{m \rightarrow \infty} \bar{U}(N^m) \quad \text{a.s.}$$

Using (9) and (22) again we obtain for all $m > 1$ that

$$\bar{U}(N^m) = \sum_{i=N+1}^{N^m} \frac{c_N \eta_{k(i)}}{N^m} \geq \sum_{i=N^{m-1}+1}^{N^m} \frac{c_N \eta_m}{N^m} = (1 - 1/N)c_N \eta_m = c\eta_m.$$

But this fact together with (23) allows us to obtain the inequality

$$(24) \quad \liminf_{n \rightarrow \infty} \bar{X}(n) \leq -\limsup_{m \rightarrow \infty} \bar{U}(N^m) \leq -c \limsup_{m \rightarrow \infty} \eta_m \quad \text{a.s.}$$

Lemma 4. *Under assumptions of Lemma 3* $\limsup_{m \rightarrow \infty} \eta_m = 1$ *a.s.*

Thus, Lemma 4 together with (24) yields (5) with $c = \mathbf{E}X_1^+$.

4. PROOFS OF LEMMAS

Proof of Lemma 1. Using definitions (6) and the first condition in (4) it immediately follows that

$$(25) \quad \begin{aligned} \lim_{N \rightarrow \infty} a(N) &= 0, & \lim_{N \rightarrow \infty} b_N &= \mathbf{E}X_1^-, & b_N &\leq \mathbf{E}X_1^- \quad \forall N > 0, \\ 0 &= \mathbf{E}X_1 = \mathbf{E}X_1^+ - \mathbf{E}X_1^-, & \mathbf{E}|X_1| &= \mathbf{E}X_1^+ + \mathbf{E}X_1^- < \infty. \end{aligned}$$

But $\mathbf{E}X_1^+ > 0$ and $\mathbf{P}(X_1 > 0) > 0$ by the second condition in (4). Hence we have from (25) that

$$(26) \quad \mathbf{E}X_1^- = \mathbf{E}X_1^+ = \mathbf{E}|X_1|/2 = c > 0, \quad \lim_{N \rightarrow \infty} b_N = c > c\mathbf{P}(X_1 < 0).$$

It is evident now from (26) and from the first convergence in (25) that conditions (7) are true for sufficiently large N .

Suppose now that conditions (7) hold. In this case, using definitions (6) and (9), we obtain that

$$\forall m \geq 1 \quad a_m/c_N < a_m/c \leq a_1/c = a(N)/c \leq 1/2.$$

So, the last inequality in (8) is proved. The first inequality in (8) also holds because $\mathbf{P}(X_1 > x) > 0$ for all $x > 0$ by the second condition in (4). Note also that by Chebyshev's inequality with the first moment

$$(27) \quad \forall m \geq 1 \quad 0 < \mathbf{P}(X_1 > N^m) \leq a_m/N^m \leq a_m/N.$$

To prove the central inequality in (8) we need to show that $\delta_m \leq 0$ for

$$\delta_m := p_m - a_m/c_N = \mathbf{P}(X_1 > N^m) + qa_m - (1 - 1/N)a_m/c.$$

But we have from (27) that

$$\frac{c\delta_m}{a_m} = \frac{c}{N} + cq - 1 + \frac{1}{N} = \left(\frac{cb_N}{N} + c\mathbf{P}(-N \leq X_1 < 0) - b_N + \frac{b_N}{N} \right) / b_N,$$

where we use definition (9) of q . But $b_N \leq c$ as it follows from (25) and (26). Hence

$$\frac{cb_N \delta_m}{a_m} \leq \frac{c^2}{N} + c\mathbf{P}(X_1 < 0) - b_N + \frac{c}{N} = c\mathbf{P}(X_1 < 0) + \frac{c(c+1)}{N} - b_N \leq 0$$

by (7). Thus $\delta_m \leq 0$ and we obtain (8) as a partial case of (7).

Proof of Lemma 2. Let $m \geq 1$ and $n \geq 2$. First, note that (16) may be derived immediately from (14) and (15). It follows from (10) that

$$E_m := \int x dG_m(x) = \mathbf{E}[X_1 : X_1 > N^m] + a_m \mathbf{E}[X_1 : -N \leq X_1 < 0]/b_N.$$

Hence, $E_m = a_m + a_m(-b_N)/b_N = 0$ by definitions (6) and (9). Now from (12) we have

$$\mathbf{E}U_n = E_{k(n)}/p_{k(n)} = 0, \quad \mathbf{E}V_n = (\mathbf{E}X_n - E_{k(n)}(x))/(1 - p_{k(n)}) = 0.$$

So, we obtain from (16) that

$$\mathbf{E}[X_n | \mathcal{F}_{n-1}] := \eta_{k(n)} \mathbf{E}U_n + (1 - \eta_{k(n)}) \mathbf{E}V_n = 0.$$

Thus, $\{X_n, \mathcal{F}_n : n \geq 1\}$ is a sequence of martingale differences.

It follows immediately from (11) and (16) that

$$\mathbf{P}(X_n \leq x) = \mathbf{P}(\eta_{k(n)} = 1) \mathbf{P}(U_n \leq x) + \mathbf{P}(\eta_{k(n)} = 0) \mathbf{P}(V_n \leq x).$$

And now $\mathbf{P}(X_n \leq x) = \mathbf{P}(X_1 \leq x)$ by definitions (11) and (12). Hence, the random variables $\{X_n\}$ are identically distributed.

Proof of Lemma 3. Let $n > N$. From definitions (10) and (12) we have

$$u_n := \mathbf{E}[U_n : |U_n| > n] = \mathbf{E}[X_1 : X_1 > N^{k(n)}]/p_{k(n)} = a_{k(n)}/p_{k(n)},$$

$$v_n := \mathbf{E}[V_n : |V_n| > n] \geq \mathbf{E}[X_n : X_n < -n]/(1 - p_{k(n)}) = -w_n/(1 - p_{k(n)}).$$

It follows from (8) that

$$u_n \geq c_N, \quad v_n \geq -2w_n, \quad \eta_{k(n)} w_n \geq 0.$$

Now from definition (17) and representation (16) we obtain

$$z_n = \mathbf{E}[X_n : |X_n| > n | \mathcal{F}_{n-1}] := \eta_{k(n)} u_n + (1 - \eta_{k(n)}) v_n \geq \eta_{k(n)} c_N - 2w_n.$$

So, Lemma 3 is proved.

Proof of Lemma 4. First note that

$$(28) \quad \sum_{m \geq 1} a_m = \sum_{m \geq 1} \sum_{j \geq m} A_j = \sum_{j \geq 1} j A_j \quad \text{with} \quad A_j := \mathbf{E}[X_1 : N^j < X_1 \leq N^{j+1}].$$

On the other hand,

$$J_j := \mathbf{E}[X_1 \log(X_1/N) : N^j < X_1 \leq N^{j+1}] \leq j A_j \log N,$$

$$(29) \quad J := \mathbf{E}[X_1 \log(X_1/N) : X_1 > N] = \sum_{j \geq m} J_j,$$

$$\mathbf{E}[X_1^+ \log(1 + X_1^+)] \leq \mathbf{E}X_1^+ \log(1 + N) + J,$$

since $\log(1 + x) < \log(1 + N) + \log(x/N)$ for $x > N$. So, we have from (28) and (29) that

$$\mathbf{E}[X_1^+ \log(1 + X_1^+)] \leq \left(\mathbf{E}X_1^+ + \sum_{m \geq 1} a_m \right) \log(1 + N).$$

Thus, $\sum_{m \geq 1} a_m = \infty$ if the second condition in (4) holds. But in this case we obtain from (8) that

$$(30) \quad \sum_{m \geq 1} \mathbf{P}(\eta_m = 1) = \sum_{m \geq 1} p_m \geq q \sum_{m \geq 1} a_m = \infty.$$

It follows immediately from (30) that, by the law of zero and one, independent events $\{\eta_m = 1\}$ occur infinitely often. But it means that $\limsup_{m \rightarrow \infty} \eta_m = 1$ with probability one.

Acknowledgements

This work contains an answer to a question posed by professor S. G. Foss in one of our useful discussions which we had, together with professor A. A. Puhalsky, while the author was visiting Heriot-Watt University in Edinburgh in February 2006. The author would like to thank professors S. G. Foss and A. A. Puhalsky for these interesting discussions.

REFERENCES

- [1] P. Hall, C.C. Heyde, *Martingale Limit Theory and Its Application*, Academic Press, New York, 1980.

ALEXANDER IVANOVICH SAKHANENKO
UGRA STATE UNIVERSITY,
CHEHOVA ST., 16,
KHANTY-MANSIYSK, RUSSIA
E-mail address: aisakh@mail.ru